ZHIHI2t ¥ (Journal of Law & Economic Regulation) 10.22732/CelPU.2023.16.1.7
M163 M1E (83 HM313). (Vol. 16. No. 1). 2023. 5. pp.7~28 http://data.doi.or.kr/10.22732/CeL.PU.2023.16.1.7

QUtit=

Mo

HEY G GPT-4 &4 7HsAn AAPE T
- YA A S(LEET) THC=Z -
Potential Applications and Implications of GPT-4 in Legal Inference
Using Korean Legal Aptitude Test (LEET)

"t M Oj(Sungmi Park)= - 8 X| ¥ (Jeewon Park)== - Ot & Bl(Jungmihn Ahn):s:

-, = OpenAl7t LHBIE 0jR0| [SAT A% ZIIE xyet

=%t OIBiET, Oj2t QA S2|Liate] HsIMAIEOl LEET
S - _

Jo 2 Ali2] SHZ0| 2HS S5 HEXCOIA GPT-47} 71

[I. GPT-4 Op7[HIX 24

=
I ot cht a 12 UL Wk LK Bleict 012 I3 GPT-49)

Ol HitH _ e =
V. o1 iz 9 s ZHEOI7t =2|X0(11, EIFoH, Hetet £28 WE
V. Z= UEE LYt IEDE [XRIZ S5t A3S ZIsINUCt
0243t S HiHS S5l GPT-49 £2 IPHOM|Al LrASH
ENES 2610 MASIZICE ATAn0| |5tH GPT-4
<2 x2> SHO| LEET A& 2HIE & Of Dl4XQl 240 7HsotH
MEE A &80 0L, i3 20| st ol o
20224 112 OpenAlOilA 3748t =70 102 HEX| ¢tom, LA ME% Ttad| gle HO=2 WHot
(Large Language Model, LLM) 7[Et CHEIS QIZX|s = 42 80| LEL} OFXIK] GPT-4= ARl 22

for
00

W
>
=

ChatGPT7t TMAXCZ 2 ¢ %’% 2o7|u Ut 53 2= Yol ARt LI EE ESKIE 2
7K EZ REQI GPT-49 Z2 LSATY 4X0| &€ otg, HENE/ TIEH AIAE 15, 81X XH 71z WY
12%2] F4E 7I150l= & SMEQl s BUEQ=2ZM 59 YAHO= FESHUM Al AAMEFE NEE +
2A0jet F20 IAH oiEshs HE ZO0M EE 2M of Uz Jtsd2 ot HHE
M, AAM HY S ZE HE GF0M MHE UHE
UE FEMA| E0H HOE UX| AT KHIF0] A
= G+= Ol={gh aiish 220 et 2HE HHHel I. M2
eSS Soll SYoHE A I, OIS floh = HHIM

At 2022 119, OpenAlolA GPT-3.5 B9
719kt =AY o] d(Large Language Model,

T F0UXE2023.4.25. A} 2023.5.25. ARH 2FILR} 2023.5.27

« 0] =22 20031 & HE(ZEH)O| RO K|uo} £3E LLM)¢) 38 Q13 A5 A4 ChatGPTE 27l5}o]
IR [LHSAIIE: Al 7|8 A SA} XIS/ G R7H e} A AARoR 2 waks 2073 9tk OpenAl
H#HS: PR10-02-000-21] .

«x DHCED HRRSONE SALPY, FRA + 2018 GPT-1= A+ &A% ©]%, GPT-3.55

*x+ SHECHSHN 7 R fshaL M ARy ELZHGT- ChatGPT:= H% ] o ‘3:4 \:l—u]-oﬂ 100+
weex SHACSIL FEHISI W4 AKX}



ZHTHL # Hi6 M1S(SH M31%) 2023, 5,

8] ARAE FA8IAL 39 Aol fR
3l9s xhsto] 19970] di= 71} ol 8-eh=
Apdofxie] ¥ okl FHAARR ARtk
ChatGPTE 7§23t OpenAlAlell 214 FA15 3
HO)AZ AT EMS)E IFASAD AR VES
Ag-5F AR H(Bing)' = WAIY A4S <A
APl s FAskaL Itk Yol MSAPE
Aprke] A3 Eg]Q]l Microsoft 36591 GPT-45 &
Aol AHEE Sl Copilots 37Hshk=
GPT 7|9k 2483} Au|27t Al g=]7] AJ2FsPEAR),
A4 5 A 7198RE ohe} s|AERM, 2 e
MR 5 £ Eugl AE 7]AEE OpenAl =
TAF 134 Ak Hele 8 1345 Al
ol HolEx FA1E Bolal SIth OpenAl= 4]
w39 149 =9 2 G Hdol] EAI%F ChatGPT 73
A& AR o]
1] ZHAlel A FHoldtk dsS HolFal Q= GTP-4
= HE FopldE 72 YEd Zlo® o=

Har ko)

1) HYE, 198 0|8 Al MGPT.."g 20228 {=23)", 2023.
02.02., KBS 72, <https://news.kbs.co.kr/news/view. do?ncd=
7596001> (X|ZHEL 23.04.01).

2) AHEY, MSEMOIN &, @ZA P 72 FH. YRK £ 16%1,
2023.03.23. ﬁ‘éh':rﬁ, <https://www.yna.co.kr/view/
AKR20230323084400009> (% T2 23.04.01).

3) MY, ‘PPT DHEOIF & =DM 5&...MS, /IE, AM= Al
EHl, 2023.03.17., SOIUE, <https://www.donga.com/news/It/
article/all/20230317/118379443/1> (2|ZYHEY 23.04.01).

4) “PwC announces strategic alliance with Harvey, positioning
PwC’s Legal Business Solutions at the forefront of legal
generative AlI” [PWC, HarveyQt M2 H & LE, PwCl HE
HZLA £248 HA 4y A9l 2F™Mol| HiX|], 2023.3.15.,
PWC, <https://www.pwc.com/gx/en/news-room/press—
releases/2023/pwc—announces—strategic—alliance-with—
harvey—positioning—pwcs—legal-business—solutions—at—the—
forefront-of-legal-generative—ai.htmi> (£ SLHEY
23.04.01).

5) Caroline Hill, “Casetext unveils Al legal assistant powered by
OpenAl’s ‘most advanced’ large language model”
[Casetext OpenAlQ| “7t& TIEE” 2 A0 2R ZE 55|
= Al Y& H|M &7H], 2023.03.01., Legal Insider, <https://
legaltechnology. com/2023/03/01/casetext—unveils—ai—
legal—assistant—-powered—by—openais—most—advanced—
large-language-model/> (£|ZYEY 23.04.01).

6) O|xf&t, HSAE QIFSH GPT-4 NMEE Al HE H|AM 2023.

03.16. GTTZ2[0}, <https:// www.gttkorea.com/news/articleView.
htmI?idxno=4454> (£|5Y22 23.04.06).

B3} 2709 7191 20231 19, %4191 GPT-3.5-turbo?)
(ChatGPT 3.5°] R)7} wl=e] Habdityshel
QJ8A]ddel LSAT(Law School Admission Test)<
FApsto] Al AR WA 299 TS

Holzl glouk, A 4L ske] 40% g5l 1A
03] QI FE& w5 ks AEe

7% itk e kel 2A% GPT-49)
78-9- LSATO] AdZo] A$] 12%(88th percentile)2]
X'])‘% 7]&3}% == @/‘\_]_X']ql /\‘]—‘g— 63:7\01——% }EI_O:‘%
O wH ATF FEO| Ht s AslekE Flow
B7hds el ol2RHY) o= GPT-47F ¥
LrRlel]l S3tuA] gFols Eela dus 7
gl = Qe 4 T WA FEsYe AL
U= ARz Zolold S TS FUch
ChatGPT7} o]#l FFolahd ¢lojg} F2of =17
olEshs HE HoklA HE WA s, i+
A, Al A 5 e HE fielA AwkE
b AEE] geol] o] =717k dut ol A
oulsh= Zol7|% &b w2 7Ith gl ¢
} wAkskar Qlek10)

MBI wE) WA FESo] @
T 9 ot AREe] o]2& Aladrgo]
o7 AA|E oo} sitt oju] & dujx] QA

mlo m°"

)

8

o L |
o >

N

7) OpenAl2| 34! 27420 ChatGPTO| AMSE Z2H 1t SAUSICH
1 HAISD 2L} ChatGPT Plus(f 2 HZA) 7=, Default 2
Y2 text-davinci-002-render—sha, Legacy= text—davinci—
002-render—paid 22& AFEstd QUCH 2t ZHO| H5 *0],
atE FEo| olo] XS YEE SHEX] UCE
Bommarito II,, M., Katz, D. M., “GPT Takes the Bar Exam.”,
SSRN, 2022, p.8.
9) 10t ofjet AMHE QIZXS-HE A4l Codexet 2|12
Bl 3 3|Al Casetext7t D& 0| = HSAAIEOIA, 42 10%2]
H4+E 2E519Ct. GPT-4 Technical Report, p.24.
20234 58 L HHxf AF, =70} A0 ZE(Large Language
Model, LLM) &171= OpenAl| GPT Z0i| 9| Z5t= Zi0| o
MetaQ| Llama, EleutherAl2| GPT-J, bigscience?| BLOOM &
CIE 370 oo 22 S &85l0 GPT-48 HAHE 4+ U= 2E
Jhet wstoz 7 Qo LoRA(Low-Rank Adaptation of
Large Language Models) S HIZ22| AF2E Z|43I5HH Hof
oo RES a4 UES o2 Mods &5 oMol &
& 2ot MAIE D oM, HH ZE SE Github(Ad =

X

10

=l
42| I 37 A FEE S5l H2YE =011 U=
FACE ozt SEE %E o, =HIQ FNat 2tEE QISK
59 Eﬁj b= St ARRlOIM Tig 4+ = HEtY AZER
=
=



gtdol of - SollM GPT-4 EE 7Hs8nt AR

GPT-4 2dl2 < AA] APASk: EAET(Generative
Pre-trained Transformer)’ Algel &3}l &A1+
g] oo Age FX3 BERTRE S} o] &
o] JNutst EWMAFEHo| 7|Wkalal Qlrkll) GPT-4
welofa] A= dolu 5 AR ghsE
U-gollA 1 thsell & o] FolkIAE FEel
o3k k= HollA o]e]at S5 gl(probability)
o] Fg =79 EFdA(validity)S HA-3chal &
T el gt oito] ARIThIy) thA] wE
OpenAl°lX 3705t AlFATE B3 2A GPT-4
7} Al FUE s ARG 98 9J7kS v}
Aok sheekar o]Zlo] ZukE WMEYGeIM e
o FETYS T Atk WolellE ol
FE Qiths 2E oulolth.

ChatGPTel thaiA 7| e} -7} e85
5] HIgARA oL} XA S A % 3
k= ARl eko = &y ool gk A1)
A 7Fs/37HA SRR AL Q= AdEolthid) i 1
o]2] gt ChatGPTS] A HolA 7P HE &7
OpenAl®] GPT-42] dt=o] W7 F& A5
Addetar HENA F2 =5 delM GPT-49
24 7FsAS ol A} SS9 o) F fiA 3
3] AR OR AFEE EE R AR,
ol7b W Aol opd B3sh oAlE GPT-47}F
oA 7‘4313}%74% i‘*‘iéﬁﬂjﬂ} Sk

m

TR}

iil

r&L\ rr

o

Q_TL Q= ‘§1-7—,7'(halluc1nat10n)’ A= 53] A¥
ol ego] @R MBI 2 GBe

714 5 SIeke ol B3] wajslolof & AT
tolth. BAEAE $4 It AR TR

11) ZHA, KAIST Z[Z{4 w4, “SHGPTAICH, O{EAH Al AIF ol
SOE A 2 QIgM7?”, 2023.3.31, QIBX|s ME, <https://
www.a|t|mes.kr/news/articleView.html'?|d><no 27683> (2|5
22 23.04.01).

12) F2[=39 42 £ M1 OEDIXZ sfigo| 0l2& 1Ky
(reasoning)0| =2|&0|1 SHAUS MK Z stCh= FHOIA Bt

(validity)e| Het2 i Ssict

Z|E8, GPT-4 LHSH OpenAl ", “AIZE ALRIE R

g8 Z0lH fEe R, | =5 FESUCDY,

2023.3.19., QIBKSAE, <https://www.aitimes.kr/news/

articleView.html?idxno=27595> (£|Z%+2Y 23.04.01).

]

tfEDP,

13 E
Zi0

Lo

APAAEY AR "HAE A Bl oF"
OpenAlI2] ChatGPT+ ZHEgl AH Lo 7 <ls
o85] 7 5 A4 S8 A9 el % vl
TR 7k 0 Qo] olel ol silo] Wa sk

2w wlgold, Ee, mEEed Be s
ZpolE T s Rk X]/\]ﬁprompt olg} ZEL
E)o]l TAALrE dohs 9 e At
thH ChatGPTS] -8 7hs/d2 kol 2ek = 3l
3, @A o] gt L ZFIES o] g3 Hi=
Holth. %, A Aty EdATAe] ol
R 2)(Language Model)o] 58] =55 Z23] g%

sloirhd Ho] g2 xzZsES} HAZo|H A

51 2]

A4z A= H$HY el (validity) 7} =0}

A 7]EH_—E} T & ZlolaLd o= HMEIY
o

o &84 7Fsids =olA 2 Zlolth
Z20Jodo| A1) GPT-4 A5 7ts) Alsto] &=
T8 tFofol & A Foldl ZEZES 4
Adetaal sk wAle] Hitee] wel dep=
GPTY] A5olthk GPT AlQe] A nde =3}

T Ade] AluHRAS Esl= zMo s ekl
e HYAR ofe] WAlE Ao} sk 534
A EAE TS Aol withe Eae B
+th GPTSh 28 ojRele x40 wigy
T o] wlolEe] WAVdE Sheratel ol
A= gkel 7P A9e v dolE ol S(inference)

o7 AA FAIE olsfiskar HH

CERRE T
A AL S8 GPT mlo
SIahe mE wh A S 918 o) dol

B AL v]M 2 (fine-tuning)= 13 71491 8

5
% AHAE Fal AEAQ S AWEs

14) 047|1M YAl GPT-4= =tE7[Hle FHsitiEte F2|=30
S 3 of

Chsf Z23 5162 UCHD IS 32 2200 Ofs B
He mZEmeol ZFO| met AT 4 YIS Aoz woln



ZHTHL # Hi6 M1S(SH M31%) 2023, 5,

Q1 ] F3(human-in-the-loop)’ *4] SO =2 A|A|
sh= ©@We] B AgE RIS & et

30
=

olsh o] ¥ Q= W FEBolehs 1

oA GPT-49] A5S Asty HEs Buxt 5
At} o] el OpenAle] A7l A

GPT-4 A¢ 5 v=9] 2AF {ISAER] LSAT
of Hojdk oS Hlth= Holx bl 19t
] LEETE ARE-3}H
H7rsl7] Slsh ¥
Felesel dist Al
= oFaL Qlo] GPT-48] F&59 Bt
bl Aoz ®glth olstellr= 7 #2022
120 LEETAIY wA1E tido= LSATS
3} OpenAl°A A3+
WA o] ZEIES tRRRIGte] GPT-4 RH19]
AEstaL FE23 IAEo] BHlo] HolF+=
A3 of 7)o QlolFQl x|l
Aek= GPT-49] 58S FRlsl] 9lste] GPT4
QFoi7} obd ERlo| R =53 2 el AHE-
ek HARES 4 sliAsksicth
A5 AYE EZ GPT-47) 71 Q)
FEAE] EAR 9 &S IR Ths
AR E AL gk

Ni

N

S

W)
o

1=

oL g
>

SETES T O

iy

02
&

o p L off

[¢
—

ox rr

A

=

I. GPT-4 O}7|ElX
1. AMEAF S o) A3 InstructGPT

GPT(Generative Pre-trained Transformer):= A}
SAY Aoee 2 2 5 S g o
olHlE EAIRl Qdojrdoltk 2017d =2
‘Attention is all you need’!9)2h= = E3l A}
7 &H5(pre-training) TS 7% AhEF 2lojmd

15) Vaswani, Ashish, et al., “Attention is all you need.”,
Advances in Neural Information Processing Systems 30,
2017.

10

o
r
fu
5

r
ol dm

s}

ol

(fine-tuning)3l] AR5}
s Ajlo] ez
d(Large Language Model,
7aeligicy 1HelE &

%
¥
J

7

1,
o

2
2
td

o
d
i
S o o

=
=
=
Mo
o
12
iy

ks
=L
flo

okt ol QlojRdEe ST BAS 4B

o7 dshz ol A= = AN, BAE T
RS A (S HOlE)E 2t Rk ofyet &)
el A gFA0E dashs 5 Ry
o TAIZE Stk GPT-29] QIUHYAE 2]
(in-context learning)’ 85 A2 o]t sHAIE
=Eal7] Qs e Zlow, e At "
W] S Bel JHgiew i, ol FHel &

Ae gis skl A alAS ke 2ol
th16) o5 F0], “Dog = 7Jo}A]”, “Cat =
o], “Bird= A2} AAIE F “Lion”S Z&F
ZER FOPH “ARPE sk "otk

9 dlolelE EAaka

olt
2
1o
of
>

v
o

A il S =
< 25k EAY QIFAsolEa sk oislE
AEAs E 49T ABAS FEH AT
598 waE Hol 0% el Aske A
E=FdE 7 9 | oItk e GPT-27) 27
A A, QIHAYAE 2]Y(in-context learning)’
WA o2 skhE Bdll AubAel wRIFY 7Y
el mIAAE E3IIth) 1 % F/E GPT-3

= GPT-29} 72 ZF= XQYor} t] B
tlolElS ARg-sla few|E|18) S¥(17509], GPT-2
o] ok 1008 ohE 57 dRIFY A flo] E
W2l ol A|(few shot learning)9FO 2 ] U A5
S HolA HYI, OpenAl:= 2022 11€
GPT-3E H3F ChatGPT(ChatGPT)E EA]51H]
l=s

td
it

16) Brown, Tom, et al., “Language Models are Few-Shot
Learners.”, Advances in Neural Information Processing
Systems 33, 2020, p.4.

17) Radford, Alec, et al., “Language Models are Unsupervised

Multitask Learners”, 2019, p.9.

SHEIPYO| £ 35E|0{0F st= 7+EX|(weight), HEk(bias) &

HH S5 Tote Aoz 2O 53t ol F s3o e 7

ZICh

19) Brown, Tom, et al., ¥ 2, p.8.

18



ghdo| o - HESHUM GPT-4 & 7Hs8nt A

Tt oljst =AY GPT
29) A sk 20] olek ojn] sl 3
Eoll ok o AAshz 2Y Ho)7] wjie] md
o] AAJsk= WH TEITE PAo] Z el Fto]
w4 & dFE A ATk OpenAlolA=
= #ldstax }017},1 B7)2 wkds)
sk WS GPT Edllef 24
Q17| 2J3t 7}3F8<5(Reinforcement
human feedback, RLHF)* W-2]o]2}

mule EQS glA

R

of]gh A%
of “stets
]_oﬂ
learning wit
aL §ih20)
RLHF ®H2 (1) WA J7Ep7F 093] 235
ol vja) fleks ABES sk, 19
2 dolelE Aste] QR Rael Awsks
J}R1FJ(SFT, Supervised finetuning)
skt 1 % (2) iRl 2R EC| g 22 4
BEg ofe] /) EEsku Q1 W 1 ke
9] 2912 vash 1 dolElE sIFYe
9o B Ed(reward model)o|2al stk (3) w}
Auro g 4 A& A SKPPO, Proximal policy
optmization) &1 ]ES ARSI BAF BElo] gk
= &3l AAe duelEFozA 2ae QI
REgatAl €tk OpenAleX=
H Ao s Avbgks =Eet
StEsh= S <% H(alignment)’ 2}
A7t ofy] 7HA] SdelA ARARES] AE
T 3715 A3t InstructGPTE 53 A4
¥ Ayl 59 F8A4 Sl GPT-3R o
AHEAEOA M) gten e HRE A}
Al AAY Pdh= #2129 F(hallucinations) = 7|
< GPTEHe] H|3] €53] 7HAst Zlo% Yehst
T}.23) InstructGPT ] Ht) & 2= AMAL] t)iZ]
 HZEE EFdto] ARAP) dels Ak =
Zof| FHAghE vk Folth2d) Aol &g

o oL

H}IAl S

i g

] o=

’.:1"

20) Ouyang, Long, et al., “Training Language Models to
Follow Instructions with Human Feedback.”, Advances in
Neural Information Processing Systems 35, 2022, p.3.

21) 919 2, p.3.

22) 919l 2, p.9.

23) ?19 2, p.3.

o
=
o
=

11

g+ ChatGPTE ©]2]3t InstructGPTS] Al
AR B AR S ARSSIIT

2. InstructGPT ¥4 distg »wg
‘ChatGPT 9} ?..ﬂ.‘li'ﬂolE HZA GPT-4

g7} QuA o s ARgsla 9%% A (chatbot)

2 A 5L AR Y3lshs Vs 1 E3
Ze]e A== AlZkE izzego]u}. 19641

MIT(Massachusetts Institute Technology) <134
A w1 A o) AlEa(Joseph Weizenbaum)
o] A} Hx2] A ElizaZs Wy A5 714
o7 =29 Siri, Amazon2] Alexa 5 ~F[E A

o] T AR YA akE

X
o aige T 27 B AR ZdEd QIxk
o] Q17 thst FEe AlwehA] R W opet
ket 212]-$ 2 (Question & Answering) Ef~T%
2 FpskA] Faf tigtel] v ohs TS AllwS
= &% =27 AHE 2L

12} InstructGPTE] BHAYS- ARE-A}S] o|Fo
9 g (align)® AR ©ES P58

931, ChatGPT+ ©]Z 7]§to® AlgA}e] AT %
= FES] 19 W= 5
A =l 71 gk Q1e sl digt
Tre 950 Holds Wk oplh, AREAES] o
W A weke efsiol AFEA7} I
= el wEt A ek gk ololurke

olulo. Eﬂ}\E E
(=4 .

)

24) OpenAlS| Completions APIQ! text—davinci—-002, text—davinci-003
S2 ZF RLHFI|Eo= Z3tshEst InstructGPT Z0|CH
ChatGPTS| ZHQI gpt-3.5~turboZt APIZ SIHE7| ™, 7+&
CHEZQI RHOICH AMHENA LHEH Alpaca 7B 22T

OOJE M0 text-davinci—-0032 AtEsICE

SOorm

25) HIIKIO] M & viFote st WAR ZoLt 85 o &
& 2HAlof xjo|7F EXY St ChatGPTSl 2<%, that FEfel Hjo|
E{7} LR35 Q7 BIIXIIL ALEAIRL Q1B K5 2H 7to| Ch3t
£ HMSotl 242 stE Aol M1 ChEE sHA ot =
or2 EHHE &®lstsIqict

26) Brian X. Chen, Nico Grant, Karen Weise, “How Siri, Alexa,

and Google Assistant Lost the A.l. Race”, 2023.03.15.,
The New York Times, <https://www.nytimes.com/ 2023/
03/15/technology/siri—alexa—google—assistant-artificial—
intelligence.htmI>(Z| S22 2023.04.05).



ZHTHL # Hi6 M1S(SH M31%) 2023, 5,

e %H A
W= *1
?544 AT SAYEE gelsto] ok
SAAES =& HAFE A B9t ‘E%?kﬁ}.”)
openAMW A 5sk= GPT 29l AH] A= API
= ARESk= A3 OpenAlolA Algsh= tishy
ol ChatGPTE ARE3R= W20 QIt}h28) GPT-4
= hs 01? GPT-49] d5-& vkz HIAES F

Q)= HPHS ChatGPT Plus 78] #hHule] ¢17] o
ol 5 7AR=e] 7 FaE o FkelS]

t}129) @AAlellA] GPT-4 APIS] ¢, th7]A; et
oA ZIeke ok 8 OpenAl tloE] 57} 5ol 719
&t ARgAREe] Ao w Ao Stk GPT-4
o] FA|ASl mel px wi= sy whHo| tig) &
N Az A=A 5030 RLHF W45
goto] o we HlOlEiOﬂ 7@}5.*2 SIS Zlo]
o= ARARE 2531 ‘&5oIt}. OpenAlelA]
T ARE TNoR zuz F e He
GPT-3.5¢] Blal] GPT-47} thtl=2] Bj=olA Als
FFE Kol AREALY] oE % olafietar A
el Rkdak= Aol B HA sk ks Aotk

&

olglAl A&HHow WAsHE KHS Hol:
ChatGPT$} GPT-40 thgh s} 2§ 71sAel

s =ake, A4, 7)), ¢ = vhekst wke
o] dofuar Slrk JEM ChatGPTE A% 723t
OpenAl°lM = U3} e SAIE  wiAle-A
GPT E29] A ¥ % (reliability) #4115 Q183}aL Q)

A
t} ChatGPT 229 RLHF &h5ol AFE]E= o)

27) Katz, Daniel Martin, et al., “GPT—4 Passes the Bar Exam”,
SSRN, 2023.

28) B APIZE GPT 3.0042 ChatGPT2H 5

3.5-turbo E&0| 7tss5tH, Cistds
J|2Xo2 REOILt OFYE &N WE HH dds

2 $209 RE MHIAE HMIsta UCt

& AIFOAM ChatGPT PlusAFSAIZtE GPT-4& 3AIZH0
2579 CHat HAIXEE 2 4 QT GPT-47t S74E o= 4

AlZHoll 100710|112H CHEE0ll= 507, SX 3AIZE & 25712

2 EALUCE

OpenAlE2 GPT-4 7|£EMOIAM ZH dgu =0 2Ho|

Ored EHIE 1o OFF|EIA, st=RI0], & ZRE, o]

HA 7%, &5 48 S F2E SHsHAl ZACtD Hich

GPT-4 Techinical Report, p.2.

29

30

12

B AMAe) A5 s 5
Sal(ground truth)’©] ‘5’19_13:],
U\:ﬂg] /Hv‘:OE EC]' % z,:
w9 A= 3
%g o leﬂr;]. 1:\:—5]_ GPTR Y&
R
=B met g
olelet BAIE AFEAP WEsA e
SETES et U BAsle] LEIE ALgo
wet Fabt 4 geps BAZE SRk 8
Arho] A= ol A3 A¥e Eaf 2H

=R =2=1
QI3A.

Moo S rE
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ol e

Yo

—rlT:

A=y

N,

Ofr

h

hy A

3. GPTRHES] AlgA e 9%t
ZE ¢zl

d

ILl

o) e} AN el Bat g
]t’i’q E]Zqﬁ}g ZEIE gt oL T
E AR, THIE A Yoleh= A=
ERIAA ATE 11 FoT7F B2E
M E RIS BElo] HA A
Aow Zguojof F QAo
WAL oy 7HA7E ey Al (1) W
E(Simple prompt), (2) &AL ZFZ E(Chain-

F

SES
et
729 ]zo
A [
ok, =%
2 gla) B
el

SLE L
=

'y

do

YEYTE

ety s

of-Thought, CoT), (3) F3F XE3XE(Few-shot
examples) 5 & Al 72 27 F ok o

(Simple) ZFZE "2 HUE 719 Flo] A
£ 27 sh= W02, 7]E(baseline) TEFIEZ
T2 AMEEY dE o7 AMgshe Wolck3n
Chain-of-thought(CoT)32)& GPTe|| A w}elo} 3+
Axbg AF-AoR HAste] Ak Aol wet
AL E5F fEshs WAOE, GPT7L wAIE &
7ol siA et 7S AMF o ® Folsivrb 1

31) Katz et al.(2023) Ol M OflAlO] Zdoll 7t& £2 ds5
2. B, Bsl ‘EHE Zolaro FIHoR meIS
HER W, ARYS X Y H S KIS S48 Ho= wolf

32) Wei, Jason, et al., “Chain of Thought Prompting Elicits
Reasoning in Large Language Models.”, Advances in Neural
Information Processing Systems 35, 2022.
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o
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HEE2 1%

(73} 1) GPT=Y oA ZEmE0| F0| 53 B CIAI(QER! 46%0IA Rl 4% )

Example prompt for a multiple choice exam (AP Art History [70])

ANSWER KEY
Here are the ansvers for the problems in the exam.

Problem 1. Choose the most likely completion of the following semtence.
Honore Daumier®s Nadar Raising Photography to the Height of Art was done
immediately after __.

Choose from the following optioms: [A] the first photographic exhibition

in history [E] the first use of color photography [C] a court decision that
determined that photographs could be considered works of art [D] the invention
of the zoopraxiscope

Explanation for Problem 1: The painting depicts Nadar., a famous French
photographer, raising a camera to the sky, as if to signify the recognition
of photography as a legitimate form of art. This recognition would have
likely come from a court decision, rather than the other options listed. The
first photographic exhibition and the invention of the zeopraxiscope, which
was a device used to create moving images, would not have had any bearing

on the recognition of photography as art. Similarly, the first use of coler
photography would not have been a significant enough event to warrant such a
celebratory depiction in the painting. Therefore, the most likely explanation
for the painting is that it was done in response to a court decision that
determined that photographs could be considered works of art.

Problem 6. <PROBLEM TEXT AND ANSWER CHOICES GO HERE>

Explanation for Problem 4: <MODEL EXPLANATION (t=0.3, n=1, max_tokens=512,
stop="\nThe answer is therefore’) SAMPLED HERE>

The answer is therefore [<MODEL ANSWER CHOICE (t=0.0, n=1, stop=‘]’) SAMPLED
HERE>]

(% 2) OpenAl El0fIM 73t GPT4 &5 48 ZEZE 04IAI
(A2l ChishAl GIRIS AMIBSHD, oifFloll w2t EtHe RE=5hs BiA)

YL ol Wk F Shlolek ofdf o1F X OpenAl: GPT-49] thAITh) BASS 7]
imple *gA 0 2= o5to] Ugld oF EAIE fI8le] 0k ZELE(Few-shot examples)E AR
e P e AP e e

B 5ok OB AMS QA EE AR FVRIA Aolehs Wl thAny 9o
X EZ o] &% b2 ATolA “Let’s think step by oA & ATE BSLL o= 3UIg GPT-4 A
step™e F7FRE QMo 8 BA ol A ¥ A% TELE eapsiolek B AT o]
AL B

4) 34) Kojima, Takeshi, et al. “Large Language Models are Zero—
Shot Reasoners.”, Advances in Neural Information Processing

!
i

il
w f—
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Systems 35, 2022.

33) 2023 1€ 302 YOIO|E 0|F ChatGPTZt HXIE et 2X| 35) GPT—4 Technical Report, p.24. |&0i|= Problem 15E 57t
20| ddste &2 =Y + UCh A & o7l 2 I E0|7t AU U2 ekt
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L A7 A% 2 LSATO o3t GPT—4
23 A&

¥ Qo] B GPT-42) WA gl tie 4

S ok sk o) Gk ol 919 B A

o

Q1 LSAT(LaW School Admission Test)oﬂ EH?_P
GPT-49] ‘35 A¥= Adste] 1 A7E OpenAl
el wlw Atk B Al g
LEETA|8lS BAgalo 7 AA3E o9 e}t
2tk LEET AlEL (1) HAR 32 Ue-s 240
2 3, (i) HerdEistd g olglol s Eol
7} AFE7] wEoll3o) (i) ATAF GPT-47}
Arshs we e oFE f1Eg = 3l
OpenAI‘:‘ LSAT®] o3t GPT-42] A3ql AA)S)

AR TELEL A ARARl FE 9

ANBHA k7] wiiel] 2 ATl A
7}2 9J8l LSAT Rolarle] ZBIEZ 24 /)
ukslo] OpenAlZ} AIA I LSAT Al Awe )
A

o]

7L Ol= - LSAT 2H7+d 24 & GPT-4
g8/t
OpenAli= GPT-42] LSAT/ 5] GPT-3.5¢]| H]
8l A e Aow LESIt IS V1%

149/180, W& 22} 40%¢<l|A 163/180, 88%=
2. e HEAHQ S wge w EH;\}

BAlz2b 2 ol Foldh Ae Balws

36) S4led2 HeEUSIAE S|, WU =X ofd: LEET
= 023—

2019), Ol m| AE|H (Y-S EHESHY), 22-

14

e g Qlo, B AT A= el ¥71E LSAT
SO et s 155 s
LSATS =g8]AIY] 915521 Section 1, &3 w99

FE AR Section 11 & 111, 31 A#-= ¢la1 52
Sh= 9dojFE] EA] Section IVE /dEo] Qlth
OpenAl? 7l e W= xHdGd
(Multiple-choice) A= AAIS E3Fe= few-shot
WAl o R ZEE Stk shE3) At L
Q3 ekt AAE 78 7 U] whel] oflgle]
ZolHE AR Aelste] #|AISH= Zero-Shot
+ Chain of Thought(CoT) ®J39)& A&}tk
A PO P o= i e

flelM QITH3 ¢S £7] flsto] wA =
1-4 YHAR FEse] HAAtep by
step) Al o® FEsto] ©E A SR SI3Ith
ATRAEANQD 57He] 527 [0,1,2,3,4,5] % ©]F¢]
A F=7F QA A A 9129 eAF 1w ZP
] AXEE AEE dgoltk Al o]
GPT-4= Fo| WHA(TIH3 2EH)olA] doz <

EZEvES-

=

o]

Sl A-EE Folali Holgk Qe Algale]
AR e ke 24 wolaL o

. (DAREOIM 238
2 g, @) Welrbae
golsle] G- =23

= l
A%-& OpenAl°lA wa; A3} Eols)
3

i3
oo
=
>
[®)
lav)
IS

30
32

(B} A 1632 BEF 1S Fole 4
ok 3, B Aok LEETAIE A 7433} 1]
wahy] flste] A FEES ok 2ol g}l
a3tttk
i

49} o] =gAIYde] vl Section I
AHEC] 60% FEoIARE 71 A ool ARE
[e)

H
FZ31= Section IVe] 7% 2 AHES
B3

37) The Official LSAT Prep Test 2007, Law School Admission
Council.

38) OpenAl, “GPT-4 Technical Report”, 2023, p.24.

39) OpenAl2| CookbookOAf CoT Off A &Z.
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Use the following clues to answer the following multiple-choice
question, using the following procedure:

irst, convert the condition to simple logical representation
econd, apply the options to the conditions

(3) Third, generate counter-facts

(4) Fourth, verify whether an option meets ALL the conditions
from (1)

Context:

A company employee generates a series of five-digit product
codes in accordance with the following rules:

The codes use the digits 0, 1, 2, 3, and 4, and no others.

Each digit occurs exactly once in any code.

The second digit has a value exactly twice that of the first digit.
The value of the third digit is less than the value of the fifth
digit

Question:
1. If the last digit of an acceptable product code is 1, it must be

true that the

(A) first digit is 2 LSAT
(B) second digit is 0 .

{Q) third di?it is3 question
(D) fourth digit is 4

(E) fourth digit is 0

Work through your logic step-by-step before answering.
Solution;
(1) First, convert the condition to simple logical representation:

(1) First, convert the condition to simple logical representation:
Let's denote the five digits of the product code as A B, C, D, and E.
Conditions

ABCDE=(0.1234

All digits are unique. B=2* A, C <E, Given: E=1

(2) Second, apply the options to the conditions:

(A)A=2, (B)B=0,(C)C=3,(D)D=4,(E)D=0

(3) Third, generate counter-facts: Z=1 Fg el

(A} fA=2 thenB=2"A=4 The code would be 241_3ITh|5 satisfies all the gven conditions.

(B)lfB=0, then A=B/2=0.This doesn't satisfy condition 2 (All digits ara unique).

condition 3(B=2"A).

condition 3{B=2"A).

condition 3(B=2"4)
(4) Fourth, verify

an opti ALL the conditions from (1):

Therefore, the comect answer is (A) first digit is 2

{C) FC = 3, then the code would be _30_1. The remaining digits are 2and 4 WA =2 B =4, but
this doesn't satisfy condition 4 (C <E), as C=3andE=1. fA =4, B =2 but this doesn? satisfy

(D) If D =4, then the code would be _3 41 The remaining digits are 0 and 2. IFA=0,B=10,
which doesn't satisfy condition 2 (Al digits are unique) A = 2 B = 4, but this doesnt satisfy

{E) f D = 0, then the code would be _3_01. The remaining digits are 2 and 4. FA =2 B =4, but
this doesn't satisfy condition 4 (C <E)jasC=3and E=1. fA=4 B =2, but this doesn? satisfy

(&) K the first digit is 2, then the code will be 241_3, which satisfies all the given conditions.
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LSAT Section Il 2|

LEET Al 2H|

E) The greater the degyee of econcamc distress someont 1s i the move lshely that servn s 10 vose =

ohil LSATE] 749 oA A= A A7olr= GPT-47} S8l7) 7hsehes 129 735
I} 71 A geKappropriate) 17]H He A2 ¥ E9R “d o]F:po] Sofd & E WA
2Jo]ARF LEET A2 Aol sk oe 55 oL 8lo] HIAES J3sto] 53] o5 dlsigltt
2 FAo= o]Fox itk 57H Z 7P el (bl 3 1-th3/3E Fx). Bk A qlell o]
SAT shE == LSATE 9R Ji57E 4 v et gle - el hgh gkt A
a4 Sz Wbd, LEETS] 3¢ A&l /ha7h dal His 24 5 GPT-4el diul= Ak Edsh
A A kot ZAZe] el visto] <, ARE 7S fske] S8 oS sl (l-ov)
Fddelop s AN 5 vk AHelM AR AYLAE Fx). o] oM ChatGPTA #H
EoflA F AJolE Kol QIrh4y) T2 E(ASCI representation)©] A of| Lh2

2. GPT-4 315 $I3 LEET AJQEA|
Z*] 2] (Pre—Processing) ¥

7t O|O|X| MYUS HAEHAOZ S}
LEET A8 EAl= gl A~ERT ollg} 8=
T Ao EFAEE A9E Egska ol
LEET dlo[ElE GPT-4¢ll 318 thdo= ARga}]

SBAE R A Brgo] HpZojrtad) &

42) LSATS| A2 FER 1/59| &E0|Lt, LEETOIME FEl B2
9| 7t 87ilats ®ojM 1/82| 2HEE WOIEICt. AR 2 LEETO|
ME ol |E ZHoIM 25 2HY HRE glet 2 Z
gt @2 "HiEA Qe xHE HY 2S(No correct
answer)'g %3 HHOZ E3st= ZRT URUCE gHH, 2
MOk 2doiME 20| L8N Yeist ©g =E5HK| Rate
HeE MUX| 3 SILIE 53 BWoR SESIC)

43) GPT-4 Techinical Report, p.250A] OpenAlE2 ®A{2| oy
OllAf GPT-4E ALSSITAM “Z|CiSH U 22 M&(as objectively
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Lt. ZEDE E3 z|M3)
GPTE| ¢ Foi7t obd ol =
715211 Agte] itk GPT-3.07F A2|&
EE = 2,04970, GPT-3.5+ 4,0967§0] 11, GPT-4+=
¥z} 8,19270(GPT-4-8k) 2} 32,768 7W(GPT-4-32k)
o] BEFS AREE ¢ Qltk4) e gheole)l

X
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g A5

L‘—_:

as possible)’'S ot0 XASIRUCHD MBI YOt A FQ
Maale 3'—7H;X| OJQIT}. B OpenAl2l ZQ 0[O|X| Ql4l
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uhdn| o - HEFEHIM GPT-4 #8 7HsMat A

(H 2) MKz 2| oflA|

R g et &
5 ASH BS# = DE# ASeE: 2,0002H, BSE: 1,5000H,
20008k | 15005 & | L0008k | s00gE o CSg5: 1,0002H, DSE: 5008H,
Utility (y-axis)
|
|
|
_ I '
&g |
| ®W xt ¥l
| R i > Budget (x-axis)
o|o|X|l/ (Description of graph) In this graph, the
Jef= y—axis represents the utility and the x—axis
represents the budget, The curve is shaped
0 A similar to a normal distribution, The mean
value is x*, which is marked with an asterisk
(*). The two points x0 and x1 are on the
x—axis, symmetrically placed around the x*
point,
(a) Zo| "F2I & IHef'E F6tn 7|1&
XA71Z (RE) Ol&t0] x10|H, Al OflMREE FOIEHOIM &
¥o7| k=l 74
el Lol aale] 1w, AT ek RERA
2 7loeh

IR AMESHE A 22 U182 Folgt
ARE BT 7 3ulE 7 S QoM. ot
L} APIGlO] GPT-4S AREA] ¢F 4,000 E9H-S A}
£ = Qo] AMTFsE BEEST) S AlgHE

[e)
L
o
a

=
T

44) OpenAl Hl& 2! <https://platform.openai.com/docs/models/
overview>: Ol ZEIZEQ} HHE Bl RXIE OpenAldl| 2
StH FEXL 470 = FTOf 3/4717H1EE Y2 2,800 &
22 21,500 Ho{7h Ect

OpenAloA| M Zst= E3LIO|K (tiktoken 2H0|E242], GPT-
3.5-turbo 2E 7|F)E2 HAES] 2 21 YRR 2EES 4
H3t= ‘hello world’'@t S8t 20| 718l EII0Z EZ +8
AUE A, SLO(‘Hallo Welt') 282, LE20('ZAIZHISHR)

P

45

4EZ, ST0| ZHI(ripttR) 5 E2, BH=01(°2H8 M) 774
O EZ0| AFZEICE 00l w2t o EF 42| 15774 74
AO|7} Lis R% UM 1k 220 LHE AEFUE Rilst=
OpenAlQ] MH|AS RS m AHofol| e} LMsH= ZHHO|
ZXBICt. <https://denyslinkov.medium.com/why—is—gpt—
3-15-77x—more—expensive—for—certain—-languages—
2b19a4adcabc>.
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3. LEILE TRkl WA

 ArelMe UM

ga5)0] Thew} Po] ZEEES Tlal,

il

ZEDE | XAZE | EH
on st MM
28 0 Ao
Simple gy St=01 L MM
CoT o o] U MM
CoT 0] g | = ME2 MM
CoT +
g0 g0 |2 E ME2 MM
one-shot

7Fg 718291 Simple F382 &8 ¥9 of
Ar 9] FAE F3 Fo] IS AHshA

(Solve the problem and provide explanations for
your solution)’#FS- ¢l2]ate] Fa|Zo)= Aas3
9Ees s 4%
(question)©] 717 flell f1A|8kaL Lo, HPow
Al e Axo] FAE ARGl ElAEsE
A3} LSATH fAkehAl Zite] H7|(statements)
Aozt e 4

o ARe] P 919

ulz glo] Q= A9 melo

o HojA HolHE eleh $ ARgSRainh e,
BN & AL 12 f3o] ohd A4t}
Bl AR B9, A3 FEE 75 {choice}. 3l

OpenAlof| M AFZRIE AN Z Z0|7t Z&E ofH 57HE F=
Zo| E7+S3IACL O X7t &M E0{7Hs few-shot ZEZEE
f gl Z0{0} ot= &2 Z CiCt4 2,000

£

I wgste] mdo] BAR AL BYsh:
KR
=

18

2023 LEET Z2I3(&4) 38 28

{passage)
Alice : FAFEXIOIAN FoH0f & TIAR2 ARAQ| TIA,
Z M XIAoIct J2|m RN TAS WS |

PIBHM ARAZARKI L, HAD RXISHH HAL| 2=
HOI Ao 2Fnt JH0] LRSI, 2t T
LHS flot 23t R, Sthet X} ffEto] FCHH
TARZE ARA SARRL] ZEOILE ol MItS —EA| ¢
Y SAHE HsHUEMSHE Ak 7HSSich (42

AMOR 22 Z{0I2 (statements)

{statements)

(a) HZIE ZAl}7| Slall 724717t A&el Sl Mlets
SONKH= HEINEOO|| s Alicen} Charlie Xt
A s

(b) "Ho| ot XMt XIS Aot +8E SH=
| o

Aot S

2t SiCfEte o2l glo] REQ EHz MEY +

St = HIZI0 el Bob2 ZHIGHRIRE, Alice
githgt Zdo|ct.

(c) 'm=Rlo] Aol SAMSHK| OfLIE mioli= SET

7ol gleH S TIWSIX| Reltt= A

Ol CHaH BobZt Charlie® XS Zi0|ct,

{choices)

@ (a) @ (b) @ (a),(c) @ (b),(c) ® (a),(b),(c)

Solve the problem and provide explanations for
your solution, Select the most appropriate option
from {choices) to answer the {question). Do not
repeat the statements, Answer only in Korean using
this format: ME—{choice}. sifA— (a) {explanation}
(b) {explanation} (c) {explanation}.49)

=

49) HAZ: ‘M E 1 E0|2F S HYsAI2. <question>0f
Sk A Sk
&~

o
A& <choices>0IAl 7+ ZEst MX|E MEHSIAIR.
statementsE EFESHA| DA 2. Tt ZUES AFEStL =012
EotAl2: HE {Med} aiM - (a) {ai&}. (b). {ai&}. (c).
{ai &}

=3
=
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CoT)

APAtaL TFEIECoT) @502 A3 755 Verify the validity of each statement. A statement
(1) AXE B4, 2) B7] B4, 3) HAE Ay =2 is valid if it is true based on the information given
= BgZo] Az} WAL Mulsle] BAS ETuE in the {passage) and reasoning, Follow these steps:
AW 2 BT FAlEols)l Pl Step 1, Analyze the (passage) and extract

N relevant criteria such as key differences, supporting
LEETS| 2] i3 @xslo] o] #4¢ 7

23

= = =)

FHom 20239 A A]”&OP A AL He] Step 2. Analyze each {statement) one by one,
[e]

]
HE &8ato] A dAletd EARl =S WAls] Verify its correctness using the extracted criteria

facts for statements, and exceptions,

Y&l AT AR °}°L7] o 2 FE in Step 1, and use logical inference and reasoning
o] oftp, ANXES wiEskH] W) 5 FoakEr to infer new information, including counter—facts,
S YAIEILE TS “step-by-step’ S AEEN] B Do not disregard statements or hypotheses due to
do] 22 PSS ZAH 0T AYIEE G5 unclear passage information, Avoid using unsuitable

reasons such as 'The statement is invalid because
i it is not mentioned in the passage. Format the

2023 LEET =2|8(&4) 3H 28k result as follows: (a) {Valid/Invalid}, {Explanation},
(b) {Valid/Invalid}. {Explanation}, {Valid/Invalid}.
{Explanation},

{passage)
Alice : 34Af"4if01|)\1 FTol0F & A2 ARHol TY

Nl

Step 3. Based on the results from Step 2,
choose the correct answer from the {choices).

il

I

d

I

MLl
el jo

U

I.

ol

N

Answer in English, Do not repeat the statements,

ro
[l
nx
nx
(]
Io
o
Ok
N
;:
o
2
E
to
5o
n
i=]
ifl
>~

Let's think step by step.50)

ci% :SEH°* Zxt %’—I“JOI
o O

1A
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X
i
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OII
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_|,__
A
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ol
o
pol
4
;
o
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{statements)
(a) HZIE ZALGH7| Sl 74712t HRQ| 3l X[SHE
SlOHA= WEWERIO] Choll Alicet Charlie= T | 50) wore: 2t gl s Aestle. <xiz>ol ABE Ty
At 710[ct of X20| w2} Ho|® HE2 EIFiC. CIg HHS mEAR:
(b) o] 3t XSt HAIS fletsto] AU Bri= Slep 1 SAEE BN T A IO, Asdl dn AmE A
S = N 9 oo P2 Bt J|EE 2B,
MAF 70| 9212 YSS QUsin Tt 742} Slep 2. 21 <otemenos SHLI BAL (el 255t 7]
sioatE o220 g5|g| =72 IS 4 Qs Z=S ANBsi0] HEHS HolsiD =2y £21 222 AIBs
5 < 4= = HICh IS TEEH MRS MBS 2RSS, X20| 2T
HRIZI0| CH BobS EHASIX[SH Alice2 Hirhat o d
HIER0] o I he! #oloiE 20|t TS RASHK DM, 270 oZEX
Zo[ct. 97| Tj20| HE0| ESSIX| LELICL'S Ze BEES of
(c) 'TTOI0| RO SAISHK| OLIEt mofs =5t 9 NSl OIAR. CI2T 20| ZHE E6AI2: (a) {2
e o - 2/8x M ge/gxue). (MY gs
FH0| gl TWS FsHK| Rl HYA SR e b EeEES). (58], (0 (58
Ol el BobZ} Charlie2 et AO|Ct, Step 3. Step 29| ZTE HIEO 2 <@I|>0)A & gg REEN
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ANSWER KEY. Here are the answers for the
problems in the exam : Problem 16, We generally
distinguish strictly between judgments of fact and
judgments of ought, (A4ZF)
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(statements)
(a) HEIE ZALSH7| Yol 715712 AEQ| 3l HMStE
Qo= HEIWEOt| CHEH AliceZ} Charlie %t

{choices)

(@) @(b) BNa),(c) @Xb),(c) BXa).(b),(c)

Verity the validity of each statement, A statement
is valid if it is true based on the information given
in the {passage) and reasoning, Follow these steps:

Step 1, Analyze the {passage) and extract relevant
criteria such as key differences, supporting facts
for statements, and exceptions,

Step 2. Analyze each (statement) one by one,
Verify its correctness using the extracted criteria
in Step 1, and use logical inference and reasoning
to infer new information, including counter—facts.
Do not disregard statements or hypotheses due to
unclear passage information, Avoid using unsuitable
reasons such as 'The statement is invalid because
it is not mentioned in the passage.' Format the result
as follows: (a) {Valid/Invalid}. {Explanation},(b)
{valid/Invalid}. {Explanation}, {Valid/Invalid}.
{Explanation},

Step 3. Based on the results from Step 2,
choose the correct answer from the {choices).

Answer in English, Do not repeat the statements,
Let's think step by step,52)
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Choi, Jonathan H., et al., "ChatGPT goes to law school.",
SSRN Electronic Journal, 2023, p.4.
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<ABSTRACT>

Potential Applications and Implications of GPT-4 in Legal
Inference Using Korean Legal Aptitude Test (LEET)

Sungmi Park - Jeewon Park - Jungmihn Ahn

In November 2022, OpenAl released ChatGPT, a conversational Al chatbot, which caused a global
sensation. The most recent model, GPT-4 is expected to replace experts in various legal tasks, including
interpreting legal documents and drafting contracts, due to its impressive performance enhancements, such
as achieving top 12% on LSAT.

This study aims to objectively prove the concerns surrounding GPT-4 through experiments. To achieve
this, the study confirmed the results of the LSAT experiment announced by OpenAl and evaluated the
potential impact of GPT-4 on the legal field by analyzing the problem-solving of LEET, a legal aptitude
test similar to LSAT, in Korea. The study conducted various prompt design experiments to ensure that
GPT-4's problem-solving is logical, valid, and able to draw accurate inferences. The study analyzed the
problems that arose during GPT-4's inference process through this experimental method. The research
results showed that GPT-4 can only perform superficial analysis when solving LEET test questions, has
difficulty applying new facts, returns inconsistent answers to the same question, and often ignores implicit
facts. Therefore, it is currently difficult to recognize GPT-4 as a rational inference model. However, it
has potential to aid human inference in law by pre-training with legal data, incorporating expert feedback,

and developing specialized legal technology.

Keywords : GPT-4, 11452 (Legal Reasoning), HSI&dAR(LEET), ZEXE <lIX|1]oH(Prompt
Engineering), S=2-(Inference Error)
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